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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.75 5920 | N | 0oo ~ 475 1.78 9.63 Zzh s 1.00 | 5.00 ~ 56.00 59.20 | =S | 5.00 ~ 5.00)|1.78 9.563
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 623 78.30 | #hLS | 000 ~ 0.00] 1.59 8.62 ZzhLs 1.00 | 5.00 ~ 7.80 7830 | #nLS | .00 ~ 7.80 | 1.69 8.562
3 100kN/mM&E#BZ5 | 1.00 | 0.00 ~ 249 139.06 |3mEBZB| 0.00 ~ 163|565 19.561 | 100kN/mM%E#BZ 5 | 1.00 | 11.86 ~ 13184 139.06 |3mEHRBZB| 40.00 ~ 13184 3.65 19.51
ZhnLst 1.00| 249 ~ 1028 100.00 | ThLS | 1.63 ~ 1028| 3.00 16.05 Zh st 1.00 | 5.00 ~ 11.86| 100.00 | =nst | 500 ~ 40.00| 3.00 16.05
4 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 279 | 144.08 |3mEBZB| 000 ~ 1.75|8.71 19.85 | 100kN/mM%E#BZ2 5 | 1.00 | 11.39 ~ 13045 144.08 |3m%ERBZB| 40.00 ~ 13045 3.71 19.85
Zh st 1.00) 279 ~ 1057 100.00 | TS | .76 ~ 1057 3.00 16.05 Fhs 1.00 | 5.00 ~ 11.39| 100.00 | =ns | 5,00 ~ 40.00| 3.00 16.05
5 100kN/mM%E#8Z5 | 1.00 | 0.00 ~ 291 146.10 |3mEBZB| 000 ~ 1.79| 374 20.00 | 100kN/mM%H#BZ5 | 1.00 | 11.23 ~ 11838| 146.10 |3mEEZB| 40.00 ~ 11838| 5.74 20.00
Zh st 1.00| 291 ~ 1069 100.00 | ThLS | .79 ~ 1069| 3.00 16.05 Fhs 1.00 | 5.00 ~ 11.23| 100.00 | =ns | 5,00 ~ 40.00| 3.00 16.05
6 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 3.07| 14887 |3mEBZB| 000 ~ 186|378 20.21 | 100kN/mMZE#BZ5 | 1.00 | 11.04 ~ 11046| [48.87 |3mEZB| 4000 ~ 11046| 5.78 20.21
zhLst 1.00 | 307 ~ 108 100.00 | ThLS | 1.86 ~ 1085 3.00 16.05 Zh st 1.00 | 6,00 ~ 11.04 100.00 | =nLS | 5.00 ~ 40.00| 3.00 16.05
. 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 285| 145.08 |3mEBZB| 000 ~ 177|872 19.93 | 100kN/mM%E#BZ2 5 | 1.00 | 11.31 ~ 10697 145.08 |3m%ERBZAB| 40.00 ~ 10697 3.72 19.93
zh st 1.00| 28 ~ 1063 100.00| ThLS | .77 ~ 1063 3.00 16.05 zhst 100|600 ~ 1131 100.00 | #hst | 5.00 ~ 40.00 | 3.00 16.05
g 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 247| 13866 |3ImEBZB| 0.00 ~ 1.62| 564 19.49 | 100kN/mM%E#BZ 5 | 1.00 | 11.91 ~ 10866 138.66 |3m%ERBAB| 420.00 ~ 10866 3.64 19.49
ZhLst 1.00| 247 ~ 1025 100.00 | TS | 1.62 ~ 1025| 3.00 16.05 zhs 1.00 | 6,00 ~ 11.91 100.00 | =nLs | 5.00 ~ 40.00| 3.00 16.05
g 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 6.08 76.29 | FnLS | 000 ~ 0.00] 1.58 8.45 Zzhn st 1.00 | 5.00 ~ 7.60 76.29 | EnLS | 6500 ~ 7.60 | 1.68 845
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




